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| PART A: Vocabulary

\Directions: Choose the number of the answer (1), (2), (3), or (4) that best completes the sentence. |
\Then mark your cﬁmce on your answer s!wef |

This decision marks another change of direction in the ----—---- of the country’s education policy.
1) evolution 2) deduction 3) transmission 4) generation
The newspaper report did not --—--- — how the men were killed.
1) assign 2) debate 3) assume 4) specify
Children inevitably suffer problems of —-—---—- to their parents’ divorce.
1) controversy 2) adjustment 3) appreciation 4) compensation
- Although she had been ill for a long time, it still came as a shock when she - died.
1) randomly 2) reluctantly 3) eventually 4) specifically
The police department -----——-- that the number of violent crimes will increase this year by about 15%.
1) imposes 2) advocates 3) estimates 4) identifies
The city’s population --------—- mainly Asians and Europeans.
1) compiles 2) deviates 3) comprises 4) eliminates
dictates that it is the man who asks the woman to marry him and not the reverse.
1) Foundation 2) Convention 3) Constitution 4) Orientation
To secure our future, we need a(n) —---—- economic strategy for the nineties.
1) ultimate 2) considerate 3) imminent 4) consistent
There is no doubt that the Italian —---—---- of the play sounds better than the English one.
1) version 2) equation 3) appendix 4) document
Crude oil is industrially --—-----—--- to purify it and separate out the different elements.
1) refined 2) modified 3) converted 4) condensed

| PART B: Grammar

|\ Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each |
Hunk. Then mark your -::hmce on your answer sheel. |

Boyd is producing a film documentary that will present Randall’s biography (11) ---=---- -— his poetry.
Randall served as general editor of the Press (12) -------- —-- 1965 to 1977. In the mid-seventies, printing
costs and the closing of many small bookstores (13) ---------- he had extended credit (14) ------—--- the Press
in financial straits. Boyd hopes her documentary on Randall (15) ——---—-- more people to African American
literature.

1) or 2) despite 3) as well as 4) in addition

1)in 2) from 3) during 4) between

1) that 2) where 3) from whom 4) to which

1) left 2) had left 3) was leaving 4) would have left
1) introduces 2) will introduce 3) is introducing 4) would introduce
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PART C: Reading Comprehension

|
| Il irections:Read the following threepassages and answer the questions by choosing the best choice |
(1), (2), (3); or (4). Then mark the correct choice on your answer sheet. |

Combines are equipped with removable heads (called headers) that are designed for
particular crops. The standard head, sometimes called a grain platform (or platform
header), is equipped with a sickle bar mower, and features a revolving reel with metal
or plastic teeth to cause the cut crop to fall into the head. A cross auger then pulls the
crop into the throat. The grain platform is used for many crops, including grain,
legumes, and many seed crops. Wheat heads are similar except that the reel is not
equipped with teeth. Some wheat heads, called "draper" heads, use a fabric or rubber
apron instead of a cross auger. Draper heads keep the crop orientation uniform,
feeding grain headfirst into the throat, which allows slightly more efficient threshing.
On many farms, platform headers are used to cut wheat, instead of separate wheat
headers, so as to reduce overall costs. Dummy heads or pick-up headers feature
spring-tined pickups, usually attached to a heavy rubber belt. They are used for crops
that have already been cut and placed in windrows or swaths. This is particularly
useful in northern climates such as western Canada where swathing kills weeds
resulting in a faster dry down. While a grain platform can be used for com, a
specialized corn head 1s ordinarily used instead.

 The passage mentions that

1) revolving reels are part of grain platforms 2) sickle bar mowers are either metal or plastic

3) we have to remove headers for particular crops ~ 4) a grain platform includes several standard heads
It is stated in the passage that ————-——,

1) cross augers pull the crops’ throat 2) standard heads can be used for leguments

3) seed crops are the main harvest of sickle bars 4) grain platforms are the same size as cross augers
Which of the following is TRUE according to the passage?

1) Draper heads do not have ‘toothed’ reels. 2) Rubber aprons are used in all wheat heads.

3) Cross augers can function as rubber aprons. 4) Draper heads are uniform in grain orientation.

The passage refers to the fact that ——----—- ;

1) grain platforms are not normally used for corn

2) weeds 1in Canada are cut in windrows or swaths

3) heavy rubber belts should be spring-tined for pick-up headers
4) separate wheat headers considerably cut harvesting costs
The word “They’ in line 12 may refer to —--—-—-- §

1) ‘heavy rubber belts > 2) “windrows or swaths’ 3) ‘pick-up hearers’ 4) “spring-tined pickups’



21-

22-

23-

24-

25-

(YN uS) paadd L)

The basic technology of agricultural machines has changed little in the last century.
Though modem harvesters and planters may do a better job or be slightly tweaked
from their predecessors, the US$250,000 combine of today still cuts, threshes, and
separates grain in essentially the same way it has always been done. However,
technology is changing the way that humans operate the machines, as computer
monitoring systems, GPS locators, and self-steer programs allow the most advanced
tractors and implements to be more precise and less wasteful in the use of fuel, seed,
or fertilizer. In the foreseeable future, some agricultural machines will be capable of
driving themselves, using GPS maps and electronic sensors. Even more esoteric are
the new areas of nanotechnology and genetic engineering, where submicroscopic
devices and biological processes, respectively, are being used as machines to perform
agricultural tasks in unusual new ways. Agriculture may be one of the oldest
professions, but the development and use of machinery has made the job title of
farmer a rarity. Instead of every person having to work to provide food for
themselves, less than 2% of the U.S. population today works in agriculture, yet that
2% provides considerably more food than the other 98% can eat. It is estimated that at

the turn of the 20th century, one farmer in the U.S. could feed 25 people, where
today, that ratio is 1:130.

It is stated in the passage that —-———--- :

1) the use of fuel, seeds and fertilizers is technologically advanced and precise
2) agricultural machines have been basically revolutionized in the 20" century
3) 250000 combines cut, thresh and separate grain in essentially the same way
4) today’s agricultural machines are not able to use electronic maps on their own
The passage mentions that -————,

1) GPS locators and self-steer programs are tools for the computers on tractors

2) the technology of agricultural machines is particularly improved for harvesters

3) the submicroscopic devices of nanotechnology can be used as machines for agricultural tasks
4) agricultural implements today are generally more precise and less wasteful than their predecessors

Which of the following is TRUE according to the passage?

1) 98% of the US population eats all the produce of the rest 2%.

2) Agricultural machines today depend on genetic engineering.

3) Not all farmers are able to operate today’s advanced tractors.

4) Every one farmer in the US today can feed over 100 persons.

This passage is mainly about agricultural machinery and --———- —.

1) “hugh output’ 2) ‘new technology’ 3) ‘advanced tractors”  4) ‘modemn implements ’

The word ‘esoteric’ in line 9 basically means difficult to -——---- .

1)} ‘use’ 2) ‘develop’ 3) ‘operate’ 4) ‘understand’
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A Compact Utility Tractor, also called a CUT is a smaller version of an agricultural
tractor but designed pnmarly for landscaping and estate management type tasks
rather than for planting and harvesting on a commercial scale. Typical CUTs range in
from 20 to 50 horsepower (15-37 kW) with available power take off (PTO)
horsepower ranging from 15 to 45 hp. (11-34 kW). CUTs are often equipped with
both a mid-mounted PTO and a standard rear PTO, especially those below 40
horsepower (30 kW). The mid-mount PTO shaft typically rotates at/near 2000 rpms
and 1s typically used to power such implements as mid-mount finish mower, a front
mounted snow blower or front mounted rotary broom. The rear PTO is standardized
at 540 rpms for the North American markets, but in some parts of the world a dual
540/1000 rpm PTO 1is standard and implements are available for either standard in
those markets. One of the most common attachment for a Compact Utility Tractor is
the front end loader or FEL. Like the larger agricultural tractors, a CUT will have an
adjustable three-point hitch that is hydraulically controlled. Typically a CUT will
have four wheel drive, or more correctly 4 wheel assist. Modern Compact Utility -
Tractors often feature a Hydrostatic transmission, but many variants of gear drive
transmissions are also offered from low priced simple gear transmissions to
synchronized transmissions to advanced glide-shift transmissions. All modern CUTs
feature a government mandated roll over protection structure (ROPS) just hke
agricultural tractors. The most well known brands in North America include Kubota,
John Deere Tractor, New Holland Ag, Case-Farmall and Massey-Ferguson. Although
less common, compact backhoes are often attached to compact utility tractors.

The passage mentions that --—- .
1) common CUTs have PTOs of 34 kW 2) most agricultural tractors are CUTs

3) below 30-kW CUTs often have two PTOs 4) CUTs are usually used on a commercial scale

It is stated in the passage that —-—-—-—,

1) mid-mount PTO shafts can be used as front-mounted snow blowers

2) front mounted rotary brooms can be powered by mid-mount PTO shafis
3) typical CUTs of 34 kWs cannot be used to power agricultural implements
4) standard rear PTOs are typically powered to have below 40 horsepowers

The passage refers to the fact that —————--,
1) CUTs are, in fact, made for FELs

2) FELs can be used along with CUTs

3) mid-mounted PTOs are not used in North America

4) a dual 540/1000 rpm PTO is standard in North America

Which of the following is TRUE according to the passage?

1) ROPs are, by law, compulsory for all modern CUTs.

2) Three-point-hiches are specifically designed for CUTs.

3) Glide shift transmissions are a necessity for modern CUTs.

4) It is possible to design hydraulic FELs for three-point-notches.

As an agricultural implement a ‘backhoe’ is specifically used for -—------—-
1) harvesting 2) watering 3) planting 4) digging
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